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TEN A RGO YT @1 AT BRI
T

(A) 18% ¥ f®

(B) 18% ¥ ®H

(C) 18%

(D) SWH # W B &l

ffoiad § 3 dF-d Je[ifos dMR)
g 7?

(A) W™

(B) @R

(©) Ferien

(D) HgTEiew

@, 9. 9. T, BT favge g
(A) TR PRIRRT SI B

(B) WIsdT DRITRRT S BewwH

(C) URRIF PMRRT ST HexyH

(D) SWad # | BIS T
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The amount of crude fibre in concentrates

is:

(A) More than 18%

(B) Lessthan 18%

(C) 18%

(D) None of the above

Which of the following is a metabolic

disease ?

(A) Perosis

(B) Ketosis

(C) Mastitis

(D) Metritis

Full form of PCDF is :

(A) Pradeshik  Co-operative  Dairy
Federation
(B) Private Co-operative Dairy
Federation
(C) Pradeshik  Commercial  Dairy
Federation
(D) None of the above
Set-D



4, SATCH G Al Uy W IRldd A

BT B
(A)

(B)
(©)

3T
TarH

(D) e

I o e e A i e i S

g
(A)
(B)
(©)
(D)

6. DIADICRIRIA B :
(A) fderE 9,
(B) fdeIfe 4,
(©) e dn,

(D)

7. WSOl &I &1 T fhdd R FCT § ?

(A)  TEETHfa

(B)
(©)
(D)
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4.

5.

True stomach in ruminant animal
IS:

(A) Rumen

(B) Omasum

(C) Abomasum

(D) Reticulum

Normal range of saliva pH in animals

is:

(A) 42—56
(B) 52—6.6
(C) 62—17.6
(D) 7.2—86

Cholecalciferol is :
(A) Vitamin D3
(B) Vitamin Bg
(C) Vitamin By,

(D) Vitamin E

Greenish colour of whey is due to :
(A) Riboflavin

(B) Carotene

(C) Xanthophyll

(D) Lycopene

Set-D



10.

I UGy T F1 ST HRA ATl U]
BB ©

(A) MBTERT

(B) NI

(C) waiEN

(D) dicwel

fefeiRaa & 9 dF-A1 e &1 dr
el 8 ?

(A) A

(B) HersifersH

©

(D) SWad # | BIS T
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10.

Balanced diet includes :

(A) Proteins and Vitamins

(B) Carbohydrates, Fat and Proteins

(©)

Carbohydrates, Fat, Proteins and

Vitamins

(D) Carbohydrates, Fat, Proteins,

Minerals, Vitamins and Water

Animals consuming only plant materials

are referred as :

Herbivores

(A)

Carnivores

(B)

Omnivores

(©)

Insectivores

(D)

Which of the following is not a function

of Vitamins ?

(A) Digestion

(B) Metabolism
(C) Growth

None of the above

(D)
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11, UISH 9 7@ &1 Ao g g 11. Formation of glucose from protein is :

(A) ‘?{cﬁﬁﬂﬁﬁﬁm (A) Gluconeogenesis
(B) TARGIMAIIRR (B) Glyconeolysis
(C) TATSHINHN (C) Glycogenesis
(D) TSP ITTTRTT (D) Glycolysis
12. IIH WG{ @ 4. . aﬂﬁﬁ ; 12. Explain the pH of good silage :
(A) 3542 (A) 3542
(B) 42—45 (B) 42—45
(C) 45—48 (C) 45—48
(D) 48—55 (D) 48—55
13. IR H wqﬁasgc\« T TIg 21T B 13. Reserve form of carbohydrates in body
is :
A wHE (A) Starch
(B) d. UB. T (B) VFAs
(C) TeTEHINH (C) Glycogen
(D) TN (D) Glucose
14, faerfs €1, o1 RS 99 |/ 8 ? 14. What is the chemical name of Vitamin
Bs ?
NS EIESE (A) Pyridoxin
(B) NrgaTHIfd (B) Riboflavin
(C) A (C) Thiamine
(D) dleligeifa (D) Polyflavin

Ag-705 (6) Set-D



15.

16.

17.

18.

faeife o fdey w9 9 Uy qA 6
g

(A) faer 4,

(B) faarfa= I,

(C) facifa 4,

(D) fdeIfe 4,

oM H 6 d@ @ e | whdl I
BT § ?

(A) faerf T

(B) fdeIfd 1

(C) T+ <t

(D) faerfae <

7. 31 IR, 1. Rerd &
(A) SR H

(B) TRAA H

(C) fERH

(D) 8 fecell o

Y DI Upldd IFeldl [hddh SR Bl
g ?

(A) TR e

(8) W

(C) WmEse

(D) ST
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15.

16.

17.

18.

Vitamin that is exclusively of animal
origin is :

(A) Vitamin By

(B) Vitamin B,

(C) Vitamin B,

(D) Vitamin Bg

Which deficiency in food causes Scurvy
disease ?

(A) Vitamin A

(B) Vitamin B

(C) VitaminC

(D) Vitamin D

N. D. R. I.is located in :

(A) Jhansi
(B) Karnal
(C) Hisar

(D) New Delhi

Natural acidity of milk is due to :

(A)
(B)
(©)
(D)

Acid phosphates
Casein
Citrates

All of the above

Set-D



19.

20.

21.

22,

Y T AMUEE T B by A [haT o
qHAT @

(A) T TR

(B) D fear

(©) (A) 3R (B)

(D) SWH # | B &l

T O T -

(A) RIS

(B) SIEHINES

(C) forTRIaTES

(D) HicfRiaTEs

WH TR A B Adead fafy
frforRad & 9 e W amnRa g 8 °
(A) ISR AL ST

(B) . TH. IR WM M

(C) LA W aRA DT

(D) <. ¥ 41 3R gg ol

Ry 7o FrfoRed 4 | fbaaT aresT
I 7§ ?

(A) FHEEESCH

(B)

(C) HIHRA

(D) B IR BRBRW
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19.

20.

21.

22.

How can the specific gravity of milk be

lowered ?
(A) By adding water
(B) By adding cream

(©)

(D) None of the above

Both (A) and (B)

The milk sugar is :

(A) Monosaccharide
(B)
(©)

(D)

Disaccharide
Oligosaccharide

Polysaccharide

The recent method of formulation of

ration is based on :

(A) DCP and TDN
(B)
(©)

(D)

DM and Thumb rule
DTP and TDN

DCP and Net energy

Bone meal is a good source of which of

the following ?

(A)
(B)
(©)
(D)

Carbohydrates
Fat
Phosphorus

Calcium and Phosphorus

Set-D



23.

24,

25.

26.

PIaRed (@) A T 8§
(A) B9 H <X

(B) e

(©) (AT (B) T

(D) IR AT

SETCll @R drel el H O HEIREH @
HH A DIF-9T I BT B 2

(A) iR
(B) I fecH
(C) U
(D) Wi

fhdd G & 98X ORI BT I FCAl
g7

(A) WS BT g

(B) N &I gy

(C) 49 @13y

(D) ¢ & gy

RIS 2 B M | | 1 1
T @

4.52 gfererd

3.62 Jfcrrd

2.62 yfcrerd

0.00 Ufderd

(A)
(B)
(©)
(D)

Ag-705

(9)

23.

24,

25.

26.

Colostrum prevents against :

(A) Calf scour
(B)
©)

(D)

Nighblindness
Both (A) and (B)

Navel ill

Which diseases is caused by the

deficiency of magnesium in ruminant

animals ?
(A)
(B)
(®)
(D)

Paralysis

Grass tetany

Pica

Perosis

Better quality KHOA is prepare from
which milk ?

(A)
(B)
(©)
(D)

Sheep milk
Cow milk
Buffalo milk

Camel milk

DCP found in wheat straw is :

(A)
(B)
(©)
(D)

4.52 percent
3.62 percent
2.62 percent

0.00 percent

Set-D



27.  fofoad e foq q&le,ﬁ HEdare ? 27. In which animal does fermentative

digestion occur ?

(A) STl FRA alel (A) Ruminant
(B) Il T &=+ dTel (B) Non-ruminant
(C) el (C) Wild
(D) (A) 3R (B) S (D) Both (A) and (B)
28. P-4 SW IUE WP & WU § 99 28. Which dairy product is sold as
ViR AGMARK ?
(A) 9 7 (A) Milk powder
(B) TR (B) Cheese
(C) ™d gy (C) Fluid milk
(D) i (D) Ghee

20. ¥ BMM W Yad H IS DI AT HH 29. Hormones that lower blood sugar

T T levels :
(A) TP (A) Glucagon
(B) BTEUNCTgHIAT (B) Hypoglycemia
(C) EISIRICITgHIT (C) Hyperglycemia
(D) TSIHelM (D) Adrenalin

30. UH. S @ QX AM § 30. Full name of SE is :
(A) TP Wi (A) Starch Established
(B) TIT oD (B) Starch Equivalent
(C) Ifsym zenfia (C) Sodium Established
(D) AfSIH THGE (D) Sodium Equivalent

Ag-705 (10) Set-D



31. U UW. 5. I fd%jd & o : 31. Full formof N. F. E. is :

(A) I BIST TRTdwT (A) National Feeding Exchange
(B) TSI I Taagae (B) Nitrogen Fixing Extract
(C) ISEINH Wl Tdgde (C) Nitrogen Free Extract

(D) HIggINT |hs URIgdc (D) Nitrogen Food Extract

32. I g # U @ Mramae @ i g, @ 32, If milk is adulterated with water (H0),

ceky i ﬁi : then freezing point of milk :

(A) FeaT B (A) Increases

(B) dcdr g (B) Decreases

(C) 91 dedl & 7 8 Heal § (C) Neither increases nor decreases
(D) SUYa H H IS Tl (D) None of the above

33. B9 W fege SuRufd &1 ydr o 33. Hansa test is adopted to dectect the

& i%m ST ST & 7 presence of :

(A) 99 g H T BT Y (A) Cow milk in Buffalo milk
(B) ¥4 & qU H B4 & qY (B) Goat milk in Buffalo milk
(C) ¥\ & 3Y H wS &I 3Y (C) Ewes milk in Buffalo milk
(D) T & ¥ H I &1 Y (D) Goat milk in Cow milk

Ag-705 (11) Set-D



34. AN Bl HH 9 PH-GT I BT 34.  Which disorder is caused by deficiency of

39 lodine ?

(A) TR (A) Goitre

(B) 93RI & dqldl TSl (B) Falling of hairs in pigs
(C) TRl (C) Rough skin

(D) Sugad FHI (D) All of the above

35. @ell, M, Y T gdrel i Ih gare 35. Percentage of dry matter in oilcake,

U T cereal, straw and puaal is :
(A) 10% (A) 10%
(B) 90% (B) 90%
(C) 70% (C) 70%
(D) 15% (D) 15%
36. AT PT AN BT @ : 36. Absorption of fat is from :
(A) formp w1t | (A) Lymph route
(B) I AN ¥ (B) Blood route
(C) Egsierd ¥ (C) Hydrotropy
(D) =TS DR W (D) Blood capillary
37. OR-3R. . T &1 O M & 37. Full name of r-RNA is :
(A) RFd IR T T (A) Renal RNA
(B) P 3R TH. T. (B) Rock RNA
(C) RSdS IR, TH. T (C) Reserved RNA
(D) TSENIEA 3R, TA. T, (D) Ribosomal RNA

Ag-705 (12) Set-D



38. faoiftm zr}1 CIR IR ICEAGIE B 38. What is chemical name of Vitamin K, ?

(A) TSR (A) Pyridoxine
(B) IgdIHIf (B) Riboflavin
(C) WISl (C) Phylloguinone
(D) omaf (D) Thiamine

39. fy=fciRed & & &9 Uy W & w9 # 39 Which one among the following is known

as animal starch ?

ST I 8 ?

(A)  Negelrst (A) Cellulose
(B) TP (B) Glucose
(C) TeTEBIT (C) Glycogen
(D) ufde (D) Pectin

40. ORAREERE  fedge fEior @ fou 40. Cyanocobalamine is essential for the

et X, formation of :
(A) 3R 9w, (A) RBC
(B) =g, dI I (B) WBC
(C) for (C) Lymph
(D) wicde (D) Platelets
41. </ fhad gRI Uoar 8 7 41. Starch is digested by :
(A) IS (A) Peptidase
(B) THIgeldT (B) Amylase
(C) cgu (C) Lipase
(D) TIEH (D) Proteinase

Ag-705 (13) Set-D



42. @m@‘ﬁ CrG RG] qgle,ﬁ T Gﬁ-unl fopar 42. In ruminant animals bacterial action takes

Q= BRI B place in -
(A) w4 H (A) Rumen
(B) YllgHeH H (B) Reticulum
(C) doM H (C) Omasum
(D) TEMWH H (D) Abomasum
43. BIF-91 WL GHlerd & ? 43.  Which one is correctly matched ?
(A) faafe v — orfiq (A) Vitamin A — Thiamine
(B) firf™ § — cramxia (B) Vitamin E — Tocopherol
(C) fIerfim S — Jsavifas (C) Vitamin D — Riboflavin
(D) fiarfde & — dfeeasra (D) Vitamin B — Calciferol
44, Roca 99K el & & SR gl 44, Rickets disease is caused due to
$9? deficiency of :
(A) faere S (A) Vitamin D
() fierf= g (B) Vitamin E
(C) faerfae di; (C) Vitamin Bg
(D) faerfd= v (D) Vitamin A
45. T, L S L T ORI WY © 45.  Full form of NDDB is :
(A) I STATHT S a1 (A) National Development Dairy Board
(B) I SW STTIHT e (B) National Dairy Development Board
(C) TR SW) SIATHT I (C) National Dairy  Development
Bureau
(D) SUYa H A Bl 7l (D) None of the above

Ag-705 (14) Set-D



46.

47.

48.

Ag-705

MAHH ¥ Jve! g9Gc b1 Y fhas
BRI BT B 7

(A) T dgeI

(B) TTUHM 3TReR
(C) Tl YUGRY

(D) SHIF W

fa e @& 1 | TR 8 el
g7

(A) T

(B) BN

(C) BT

(D) SHF W

e RerR Ffaiag § 4 fga forg
e ol 8 ?

(A) SHE F@I IR Msor

(B) <Y &I fddey

(C) ¥ o v, € 3R YCmifcs
Tl @ a2 W 3¢ B

(D) SudTd aHl

(15)

46.

47.

48.

Sandy texture defect in ice-cream is due

to:

(A) High lactose

(B) Temperature fluctuation

(C) Long storage

(D) All of the above

The deficiency of which of the trace

mineral can lead to Anaemia ?

(A) Iron

(B) Copper

(C) Cobalt

(D) All of the above

Milk replacer refers to which of the

following ?

(A) Readymade dry feed mixture
(B) Substitute of milk

(C) It is also fortified with Vitamin A,

D and antibiotics

(D) All of the above

Set-D



49, TH. TP, 3, o @] Hahla ovar & 49. N.F. E. refersto .............. and serves as

asource of ................ .
T — S 99 3 w7 Py
AT 2 |
(A) FF BT TRgde, TN (A) Non Fat Extract, Protein
(B) Gl (hlgey Tdcdc, ICEILE] (B) No Fibre Extract, Vitamins
(C) =SSN Wl Udgde, ol (C) Nitrogen Free Extract, Energy
(D) Mg s Uddgde, T (D) Nitrogen Food Extract, Fat

50. WRd H 2019-2020 & IR Ufd A g 50. In India milk availability per capita per

day during 2019-2020 was :

Bl IuTr ol

(A) 177 M (A) 177gm
(B) 214 UM (B) 214gm
(C) 407 I (C) 407 gm
(D) 307 U™ (D) 307gm

51. T{l'rn?«ﬁ N dredl H N EINECIERNER 51. In ruminants the cellulose is digested in

frgamygars ? which organ ?
(A) T (A) Rumen

(B) X< hef? (B) Reticulum
(C) 3 (C) Omasum
(D) VdHeH (D) Abomasum

Ag-705 (16) Set-D



52. A 989l B MR H fiRamgRE 52, Aureomycin hydrochloride is feed to

313@_“@_\’5@ g0 fr /9ver /R oo young calves 80 mg/calf/day because :

fer e &

(A) TE I8 b T Pl 3 AT © (A) Ittreats calf scours

(B) fI®rT @I 10 A 30 UfTd 9% derar (B) Increases growth from 10 to 30
3 percent

(C) WHY &1 faemT Hva B (C) Develops rumen

(D) ¥ & UM H AGS Iedl © (D) Helps in digestion of milk

53. Wqford JMER JAER &I a8 A B : 53. Balanced ration is the amount of feed :

(A) 578 99 9ve I B 2 | (A) which contains all the nutrients.

(B) S Tfaven & SR <1 9 & | (B) which is given during pregnancy.

(C) Torm¥ 24 gv¢ # amgfd oy T Wi (C) which has correct proportion of all
96 et B e ST S the feed nutrients supplied in 24

hours.

(D) I 24 T & TRM aTqﬁ GRS (D) which is supplied during 24 hours.

gl

54. @W@Wﬁmﬂﬂﬁsﬁmﬁaﬁ 54. According to Thumb rule of Animal

3MER ® S €. U, &7 ufaerd b= g Nutrition what should be the percentage
of TDN in maintenance ration ?

ElR

(A) 5055 (A) 5055
(B) 6064 (B) 6064
(C) 6872 (C) 6872
(D) 8082 (D) 8082

Ag-705 (17) Set-D



55, onfoi4, fAfRNfAH, @ed= vd fgems 55. Argine,  methionine,  lysine  and

oy tryptophan are :

(A) G+ (A) Minerals

(B) Zb"l‘ﬁﬁ%]’f’;?‘d’ (B) Carbohydrate
(C) 9w (C) Fats

(D) W (D) Proteins

56. f=folRad § W o UdHRIfed -8l © ? 56. Which of the following is not

an antibiotic ?

(A) RIS (A) Penicillin
(B) ISR (B) Streptomycin
(C) Tdssid (C) Albendazole
(D) e (D) Neomycin

57. DIAIH B HH W UG TP H DA 57. Which disease occurs in adult animals

due to deficiency of calcium ?

T BT I © ?

(A) 3IReFger (A) Osteomalacia
(B) @ I (B) Rickets

C) TY TR (C) Milk fever
(D) Sugad FI (D) Al of the above

Ag-705 (18) Set-D



58. 3Y W UMVl ql fohar S § ? 58. Why are adulterants added in milk ?

(A) AT ARG oM B folw (A) To increase shelf life
(B) Y B! HIHT 4 b fofy (B) To increase quantity of milk
(C) ©feyr Ul &1 Y W M W (C) To sell poor quality at the same
T G R price
(D) Sugad Fl (D) Al of the above
59. <Y H UK fbw w9 # T o © ? 59. Protein in milk exists in the form of :
(A) Plegsd (A) Colloidal
(B) IHRM (B) Emulsion
(C) fderga (C) Solution
(D) Suga H A Bl el (D) None of the above

60. AIC TR # R[E g uerd @ WA 60. The amount of crude fibre in roughages

R is:

(A) 18% 9 f® (A) More than 18%
(B) 18% ¥ ®H (B) Less than 18%
(C) 18% (C) 18%

(D) STYa H H IS el (D) None of the above

Ag-705 (19) Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRIT9T STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM @ b GEM & A0S fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet) T
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE XM & ¢
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq afeT = 2|

10. @15 A WG B, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e H dN-ge, deldeicy, Yok a1 Heger
B of ST T SHBT START BRAT i ¢ |

12. 9 & B U9 S WURRY § A=1ar 89 &
T H YT BT U WUARYT & AR BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o

2y
i3
E
oy,
a,
j
8



	AG-705-Cover-Set-D.pdf (p.1-3)

